MAT1500-03/10 02F Quiz5 Print Name (Last, First) l< 10

‘ LASY ! Fest!
Show all work, including mental steps, in a clearly organized way that speaks for itself. User proper
mathematical notation, identifying expressions by their proper symbols (introducing them if necessary),

and use arrows and equal signs when appropriate. BOX final short answers. Always simplify
expressions.

o fB=1e% o Cilclde () and fackor gour resulh
b) Fird the valves of £ foruwhich  §'(1)=0.

b) Use your graphing calculator or Maple or Mathcad

to Nurencally find the value of X where dudx=0
“ﬁ%x for O<x<2m,

¢) What valve does Y have theve 7

) /?;9\ y= siox a) Calculate dy/dx using the quotientrule

d hich 15 not th bo) for faking & denvahve of-an
ok G e B o e e o ol of dffoortehng

@q)f('a“ y byx. . -
> @ s et **g‘* et = et+te =[G+e)e ‘
4 et
Vo= Sm= (rogl = we=o S[t=oll
0
@ a) y= i‘%ﬁ‘, g.co.JX | %.(i
dy _ sinx \ X Xsur{x~ sex §x TR
ax = gi( x 5 - v = | X -
" 0= dy X Wsx=Sinx =0 (——5 or divide by casx !
i X_(asK= SINX =0
> fsolve ( wxeos () = Sin(e) = O, X= B-’“ 2"'P.‘7)' X—‘hclnx =0

(x= 4,4934 3

o Jys snx = s (4B 700 912
X 4,494

thmSe " What valve dves Y have there 7" s a"lbiguoug mlg ;JL

you are not Hhinking.  This problem is about this graph yvesusx

shown 11y the ﬁ9‘4"e. We ‘ﬁ)und the X valve wheve the 'fahjen(- Iine is
herizontal 5 clearly the next rclated informafion to find wauld loe the
gwlw:of that Po[n'l-an the ng"\. Some had mslead in Theirmind

J= % (99) and sadwell y=o there, But why would T ask 7
for that when SfH'?"\'j Hy= %(C&'sl—’ﬂ =0 "was how e ﬁ:unolf‘\e x—valve.
We already ke that,



